REESE
Changing Table / Table a langer

Assembly Instruction
Instructions d'assemblage

WARNING ! When child reaches a maximum weight of 30 Ibs, the changing table shall no longer be use.
Avertissement ! Lorsque I'enfant atteint le poids maximum de 30 Ibs, la table a langer ne doit plus étre utilisé.



Congratulations on your purchase of a Westwood product. We take great pride in
the quality and design of our furniture. The safety of your child is our highest
priority. It is important that you read these instructions carefully and completely to
ensure that this product functions as it was designed.

After opening the package, check to see that all the parts are present. If you think
something is missing, please contact your retailer, and they can arrange to have
the missing parts quickly replaced. You can also contact us directly, by calling
1-908-719-4707, or emailing support@westwoodbaby.com

If any aspect of these instructions is unclear, please contact your retailer or
Westwood Design for assistance.

Félicitations pour votre achat d'un produit Westwood. Nous sommes tres fiers de
la qualité et de la conception de nos meubles. La sécurité de votre enfant est notre
plus grande priorité. Il est important que vous lisiez ces instructions de maniére
attentive et compléte pour vous assurer que ce produit fonctionne tel qu'il a été
congu.

Apreés l'ouverture de I'emballage, vérifiez que toutes les composantes du produit
sont présentes. Si vous pensez qu'un des éléments manque, veuillez
communiquer avec votre détaillant et il pourra vous obtenir les pieces manquantes
rapidement. Vous pouvez aussi contacter directement Westwood, en téléphonant
au 1-908-719-4707, ou par courrier électronique a support@westwoodbaby.com

Si l'un des aspects des instructions n'était pas clair, veuillez communiquer avec
votre marchand ou avec Westwood pour de l'aide.

— S

635 N. Billy Mitchell Rd., Ste. B 13-3120 Rutherford Rd., Ste. 407
Salt Lake City, UT 84116 Vaughan, ON L4K OB2
Phone: 908-719-4707 Canada




/I\ WARNING: CHANGING TABLE

Fall hazard - to prevent death or serious injury, always keep child within arm's reach.

Read all instructions before use of the changing table.

KEEP THESE INSTRUCTIONS IN A SAFE PLACE FOR FUTURE USE.

Inspect the changing table periodically. Do not use the changing table if it is damaged or broken.
Contact Westwood Design with any questions.

Tighten all loose screws and bolts before each use.

The maximum recommended weight of the child is 30 Ibs for the changing table.

Use only the pad provided by Westwood Design.

NOTES ON ASSEMBLY:

- Be sure to use the proper size and shape specified in the instructions.
- To assemble this unit you may be required to place the unit on it's side and face. It is strongly
recommended that assembly is done on a soft, non-abrasive surface to avoid damaging the finish.

NOTES ON USE:

Keep children and others safe by following these simple rules:
- Do not allow any child to play on furniture.

- Do not allow climbing on any piece of furniture.

- Do not allow hanging from any piece of furniture.

- Always monitor your child's activity when in the nursery.

NOTES ON CARE AND MAINTENANCE:

- Do not scratch or chip the finish.

- Inspect the product periodically, contact Westwood Design for replacement parts or questions.

- Do not store the product or any parts in extreme temperatures and conditions such as a hot attic
or a damp, cold basement. These extremes can cause a loss of structural integrity.

- To preserve the luster of the high quality finish on your product, it is recommended to place a doily
or felt pad under any items you place on the finish.

- Clean with a damp cloth, then a dry cloth to preserve the original luster and beauty of this fine finish.

- Do not use abrasive chemicals.

- Do not spray cleaners directly onto furniture.

- Lift slightly when moving on carpeting to prevent leg breakage.

- Use of a vaporizer near furniture will cause wood to swell and finish to peel.



/I\ MISE EN GARDE: Table a langer

Automne dangereux pour prévenir la mort ou des blessures graves, toujours garder l'enfant a
portée de bras.

Lisez toutes les instructions avant |'utilisation de la table a langer.

CONSERVER CES INSTRUCTIONS DANS UN ENDROIT POUR USAGE FUTUR.

Inspectez la table a langer périodiguement. Ne pas utiliser la table a langer si elle est endommagée
Ou cassee.

Contactez Westwood Design avec toutes les questions.

Serrez toutes les vis et les boulons avant chaque utilisation.

Poids maximum recommandé de I'enfant est de 30 livres pour la table a langer.

Utilisez uniquement Westwood matelas a langer fourni.

Assemblage Note:

- Assurez-vous d'utiliser la taille et la forme appropriée.

- Pour assembler cette unité, vous pouvez étre amené a placer sur le cété et le visage. Il est
fortement recommandé que le montage est effectué sur une surface molle, non abrasif pour éviter
d'endommager la finition.

Remarques sur l'utilisation:

Gardez les enfants et les autres en toute sécurité en suivant ces régles simples:
- Ne pas laisser les enfants jouer sur les meubles.

- Ne permet pas de grimper sur un meuble.

- Ne laissez pas les enfants se pendre meubles.

- Toujours surveiller votre enfant quand autour des meubles.

Entretien et maintenance notes:

- Ne pas rayer ou écailler le fini.

- Inspectez le produit périodiquement. Appelez Westwood pour les pieces de rechange ou des
questions.

- Ne pas stocker le produit ou les pieces a des températures extrémes. Les températures extrémes
peuvent entrainer une perte de l'intégrité structurelle.

- Recommandé pour placer tampon de feutre sous les articles placés sur la finition.

- Nettoyer avec un chiffon humide, puis sécher a préserver finition.

- Ne vaporisez pas de nettoyant ou de produits chimiques abrasifs.

- Si Déménagement et soulever légérement pour éviter de se casser les jambs.

- Ne pas utiliser vaporisateur prés meubles.



Parts & Hardware Included / Pieces et matériel inclus

A | Side Panel / Panneau latéral (x 2) B | Top Support / Haut soutien (x 2)

-~

///
-

C | Shelf Support / Supports pour tablette (x 4) | D Changing pad shelf /
Tablette pour matelas a langer

B O

E | Shelf/ étagere (x 2) F Changing Pad / Matelas a langer

<

(S | Restrain Belt / Retenez ceinture

s




Parts & Hardware Included / Pieces et matériel inclus

H | M6 x 30mm Allen Bolt / Boulon Allen (x12)

i

Wood Dowel / Cheville de bois (x 12)

J | M6 x 20mm Allen Bolt / Boulon Allen (x2)

Nut / écrou (x 2)

L | Metal Washer / Rondelle métallique (x 4)

=2

Allen Wrench / Clé Allen




Required Parts & Hardware / Pieces et matériel requis

(A) Side Panel / Panneau latéral (x 1)
‘|l\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘ =
(B) Top Support /
Haut soutien (x 2)
(C) Shelf Support / (H) M6 x 30mm Allen Bolt/ | (I) Wood Dowel / (M) Allen Wrench /
Supports pour tablette (x 4) Boulon Allen (x 6) Cheville de bois (x 6) Clé Allen

Step 1/ Etape 1




Required Parts & Hardware / Pieces et matériel requis

(D) Changing pad shelf / Tablette pour matelas a langer | (E) Shelf / Etagére (x 2)

Step 2 / Etape 2

=
A

-

0

) é

=
N
T




Required Parts & Hardware / Pieces et matériel requis

‘|)\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘ ) /
(A) Side Panel / Panneau latéral (x 1)

(H) M6 x 30mm Allen Bolt/ | (I) Wood Dowel / (M) Allen Wrench /
Boulon Allen (x 6) Cheville de bois (x 6) Clé Allen

Step 3 / Etape 3

U

g




Required Parts & Hardware / Pieces et matériel requis

(G) Restrain Belt /
Retenez ceinture

(J) M6 x 20mm
Allen Bolt /
Boulon Allen (x 2)

(K) Nut / écrou (x 2)

(L) Metal Washer /
Rondelle métallique
(x4)

(M) Allen Wrench /
Clé Allen

Step 4 / Etape 4

9




Required Parts & Hardware / Pieces et matériel requis

Step 5/ Etape 5

ad / Matelas a langer

FALL HAZARD - to prevent death or serious injury, always keep child within arm's reach.
RISQUE DE CHUTE - pour empécher la mort ou des blessures graves, toujours garder I'enfant
a portée de bras.

Always secure this pad to the changing surface by buckling the safety strap.

See instructions.
Fixez toujours ce patin pour la modification surface par flambage la sangle de sécurité.

Voir les instructions.

WARNING ! When child reaches a maximum weight of 30 Ibs, the changing table shall no longer be use.
Avertissement ! Lorsque I'enfant atteint le poids maximum de 30 Ibs, la table a langer ne doit
plus étre utilisé.




REESE
Cottage Crib / Lit de bébé

CERTIFIED

Assembly Instruction
Instructions d'assemblage




Congratulations on your purchase of a Westwood product. We take great pride in
the quality and design of our furniture. The safety of your child is our highest
priority. It is important that you read these instructions carefully and completely to
ensure that this product functions as it was designed.

After opening the package, check to see that all the parts are present. If you think
something is missing, please contact your retailer, and they can arrange to have
the missing parts quickly replaced. You can also contact us directly, by calling
1-908-719-4707, or emailing support@westwoodbaby.com

If any aspect of these instructions is unclear, please contact your retailer or
Westwood Design for assistance.

In addition to meeting our own extensive in-house testing and standards, this crib
has been independently tested to meet JPMA certification standards.

Félicitations pour votre achat d'un produit Westwood. Nous sommes tres fiers de
la qualité et de la conception de nos meubles. La sécurité de votre enfant est notre
plus grande priorité. Il est important que vous lisiez ces instructions de maniére
attentive et compléte pour vous assurer que ce produit fonctionne tel qu'il a été
congu.

Apreés l'ouverture de I'emballage, vérifiez que toutes les composantes du produit
sont présentes. Si vous pensez qu'un des éléments manque, veuillez
communiquer avec votre détaillant et il pourra vous obtenir les pieces manquantes
rapidement. Vous pouvez aussi contacter directement Westwood, en téléphonant
au 1-908-719-4707, ou par courrier électronique a support@westwoodbaby.com

Si l'un des aspects des instructions n'était pas clair, veuillez communiquer avec
votre marchand ou avec Westwood pour de l'aide.

En plus d'étre soumis a nos normes et a nos tests complets a l'interne, ce lit de bébé
a été testé indépendamment et rencontre les normes de la certification JPMA.

WESTW DESIGN

www.jpma.org

635 N. Billy Mitchell Rd., Ste. B 13-3120 Rutherford Rd., Ste. 407
Salt Lake City, UT 84116 Vaughan, ON L4K OB2 .

Ml v -« NNOD “7AN A™7N"7 F o Y Coalodes Chanrdanels




/\ WARNING

FAILURE TO FOLLOW THESE WARNINGS AND ASSEMBLY INSTRUCTIONS COULD RESULT
IN SERIOUS INJURY OR DEATH.

- READ ALL INSTRUCTIONS BEFORE ASSEMBLING CRIB. KEEP INSTRUCTIONS FOR
FUTURE USE.

- TO REDUCE THE RISK OF SUDDEN INFANT DEATH SYNDROME (SIDS), PEDIATRICIANS
RECOMMEND HEALTHY INFANTS BE PLACED ON THEIR BACK TO SLEEP, UNLESS
OTHERWISE ADVISED BY YOUR PHYSICIAN.

- PREVENT BURNS. KEEP CRIB AWAY FROM OPEN FIRES AND OTHER HEAT SOURCES.

- ANY MATTRESS USED IN THIS CRIB MUST BE AT LEAST 27-1/4 IN. (69 CM). BY 51-5/8 IN.
(131 CM), WITH ATHICKNESS NOT EXCEEDING 6 IN. (15 CM). THE DIMENSIONS OF THE
MATTRESS SHOULD BE TAKEN FROM SEAM TO SEAM.

- DO NOT USE A WATER MATTRESS WITH THIS CRIB.

- NEVER USE PLASTIC SHIPPING BAGS OR OTHER PLASTIC FILM AS A MATTRESS COVER
BECAUSE THE CAUSE SUFFOCATION.

- IF REFINISHING, USE A NON-TOXIC FINISH SPECIFIED FOR CHILDREN'S PRODUCTS.

- FOLLOW WARNINGS ON ALL PRODUCTS IN CRIB.

SUFFOCATION HAZARD:

- INFANTS CAN SUFFOCATE IN GAPS BETWEEN A MATTRESS THAT IS TOO SMALL OR TOO
THICK AND CRIB SIDES.

- INFANTS CAN SUFFOCATE ON SOFT BEDDING. NEVER ADD A PILLOW OR COMFORTER.
NEVER PLACE ADDITIONAL PADDING UNDER AN INFANT.

STRANGULATION HAZARD:

- STRINGS CAN CAUSE STRANGULATION! DO NOT PLACE ITEMS WITH A STRING AROUND
CHILD'S NECK, SUCH AS HOOD STRINGS OR PACIFIER CORDS. DO NOT SUSPEND
STRINGS OVER A CRIB OR ATTACH STRINGS TO TOYS.

- TO PREVENT STRANGULATION, TIGHTEN ALL SCREWS AND BOLTS. A CHILD CAN TRAP
PARTS OF THE BODY OR CLOTHING ON LOOSE SCREWS AND BOLTS.

- DO NOT PLACE CRIB NEAR A WINDOW WHERE CORDS FROM BLINDS OR DRAPES MAY
STRANGLE A CHILD.

FALL HAZARD:

- WHEN CHILD IS ABLE TO PULL TO A STANDING POSITION, SET MATTRESS TO LOWEST
POSITION AD REMOVE BUMPER PADS, LARGE TOYS AND OTHER OBJECTS THAT
COULD SERVE AS STEPS FOR CLIMBING OUT.

- WHEN CHILD IS ABLE TO CLIMB OUT OR REACHES THE HEIGHT OF 35 IN. (89 CM), THE
CRIB SHALL NO LONGER BE USED.

IMPORTANT:

- CHECK THIS CRIB FOR DAMAGED HARDWARE, LOOSE JOINTS, MISSING PARTS OR
SHARP EDGES BEFORE AND AFTER ASSEMBLY AND FREQUENTLY DURING USE. DO NOT
USE CRIB IF ANY PARTS ARE MISSING OR BROKEN. ASK YOUR DEALER OR CONTACT
WESTWOOD DESIGN: 635 N. BILLY MITCHELL RD., STE. B, SALT LAKE CITY, UTAH 84116,
PHONE: 1-908-719-4707, EMAIL: SUPPORT@WESTWOODBABY.COM; FOR REPLACEMENT
PARTS AND INSTRUCTIONAL LITERATURE IF NEEDED. DO NOT SUBSTITUTE PARTS.



/\ MISE EN GARDE

LE NON RESPECT DES MISES EN GARDE ET DES INSTRUCTIONS D'ASSEMBLAGE POURRAIT RESULTER
EN DES BLESSURES GRAVES OU MORTELLES.

- LIRE TOUTES LES INSTRUCTION AVANT D'ASSEMBLER LE LIT DE BEBE. CONSERVER LES INSTRUCTIONS
POUR UN USAGE ULTERIEUR.

- POUR REDUIRE LE RISQUE DU SYNDROME DE MORT SUBITE DU NOURISSON, LES PEDIATRES
RECOMMANDENT QUE LES NOUVEAUX-NES SOIENT PLACES SUR LEUR DOS POUR DORMIR, SAUF AVIS
CONTRAIRE DU MEDECIN.

- PREVENEZ LES BRULURES. GARDEZ LE LIT DE BEBE LOIN DU FEU ET DES SOURCES DE CHALEUR.

- TOUT MATELAS UTILISE DANS LE LIT DE BEBE DOIT MESURER AU MOINS 69 CM. (27 1/4") PAR 131 CM. (51 5/8"),
AVEC UNE EPAISSEUR QUI NE DEPASSE PAS 15 CM. (6"). LES DIMENSIONS DU MATELAS DOIVENT
ETRE PRISES DE COUTURE A COUTURE.

- NE PAS UTILISER DE MATELAS D'EAU AVEC CE LIT DE BEBE.

- NE JAMAIS UTILISER UN SAC DE PLASTIQUE D'EMBALLAGE OU UNE AUTRE PELLICULE DE MATIERE
PLASTIQUE COMME HOUSSE DE MATELAS CAR CELA POURRAIT CAUSER LA SUFFOCATION.

- EN CAS DE RETOUCHES DE LA FINITION, UTILISEZ UN FINI NON-TOXIQUE SPECIFIQUE AUX PRODUITS
POUR ENFANTS.

- SUIVRE LES MISES EN GARDE POUR TOUS LES PRODUITS UTILISES DANS LE LIT DE BEBE.

RISQUES DE SUFFOCATION

- LES BEBES PEUVENT SUFFOQUER DANS LES ESPACES ENTRE UN MATELAS TROP PETIT OU TROP EPAIS
ET LES COTES DU LIT DE BEBE.

- LES BEBES PEUVENT SUFFOQUER SUR UNE LITERIE EPAISSE . NE JAMAIS AJOUTER D'OREILLER OU DE
DOUILLETTE. NE JAMAIS PLACER DE REMBOURRAGE ADDITIONNEL SOUS UN BEBE.

RISQUE D'’ETRANGLEMENT

- LES FICELLES PEUVENT CAUSER L'ETRANGLEMENT! NE PAS PLACER D'OBJET AVEC FICELLE AUTOUR DU
COU DU NOURRISSON, COMME UN CAPUCHON AVEC CORDE OU UNE SUCE AVEC CORDON. NE PAS
SUSPENDRE DE FICELLE AU-DESSUS DU LIT DE BEBE NI ATTACHER DE CORDE SUR UN JOUET.

- POUR PREVENIR L'ETRANGLEMENT, RESSERRER TOUTES LES VIS ET LES BOULONS. UN ENFANT PEUT
COINCER UNE PARTIE DE SON CORPS OU DE SES VETEMENTS SUR DES VIS OU DES BOULONS MAL SERRES.

- NE PAS PLACER LE LIT DE BEBE PRES D'UNE FENETRE OU DES CORDONS DE STORES OU DE RIDEAUX
POURRAIENT L'ETRANGLER.

RISQUE DE CHUTE

- QUAND L'ENFANT EST EN MESURE DE SE METTRE DEBOUT, PLACEZ LE MATELAS DANS LA POSITION
INFERIEURE ET RETIREZ LES COUSSINS DE LA LITERIE, LES GRANDS JOUETS ET TOUT AUTRE OBJET
POUVANT SERVIR A GRIMPER HORS DU LIT.

- DES QUE BEBE PEUT GRIMPER HORS DU LIT DE BEBE OU QU'IL MESURE 90 CM. (35 PO.), LE LIT DE BEBE
NE DEVRAIT PLUS ETRE UTILISE.

IMPORTANT!

- INSPECTER CE LIT DE BEBE POUR DECELER TOUTE PIECE DE QUINCAILLERIE ENDOMMAGEE , TOUTE
ARTICULATION RELACHEE, TOUTE PIECE MANQUANTE OU TOUTE ARETE COUPANTE AVANT ET APRES
L'ASSEMBLAGE, ET FREQUEMMENT PENDANT L'UTILISATION. NE PAS UTILISER LE LIT DE BEBE SI L'UNE
DE SES PIECES EST MANQUANTE OU BRISEE . DEMANDER A VOTRE MARCHAND OU COMMUNIQUER AVEC
WESTWOOD DESIGN: 635 N. BILLY MITCHELL RD., STE. B, SALT LAKE CITY, UTAH 84116, TELEPHONE :

P Jy sy g sy g N [ . T —



Parts & Hardware Included / Pieces et matériel inclus

A | Crib End / Lit Fin (x 2) B | Crib Side / Lit Coté (x 2)
// g
I S
Bz s
> e >
C |Bottom Panel / Panneau inférieur du D | Foot - Left / Pied - Gauche (x 2)
0
0 5
o
0
0
E | Foot - Right / Pied - Droite (x 2) F | Foot Support / Support du pied (x 2)
0
0 ﬁ
\ o
0
0
G | Mattress Support / Support de matelas




Parts & Hardware Included / Pieces et matériel inclus

H

M6 x 35mm Allen Bolt / Boulon Allen (x 4)

Wood Dowel / Cheville de bois (x 8)

M6 x 45mm Allen Bolt / Boulon Allen (x 8)

Barrel Nut / Ecrou (x 8)

\Q@

~

M6 x 85mm Allen Bolt / Boulon Allen (x 8)

M6 x 55mm Allen Bolt / Boulon Allen (x 8)

M6 x 16mm Allen Bolt / Boulon Allen (x 4)

Allen Wrench / Clé Allen




Required Parts & Hardware / Pieces et matériel requis

=&

(1) Wood Dowel / (O) Allen Wrench /
Cheville de bois (x 8) Clé Allen

(H) M6 x 35mm Allen Bolt /
Boulon Allen (x 4)

Step 1/ Etape 1




Required Parts & Hardware / Pieces et matériel requis

‘|\\mm\mn\m\m\m\\u\mu\m\mm\unm\m\m\\m\m\\m\m\\m\\\\w N~ /

(J) M6 x 45mm Allen Bolt / (K) Barrel Nut/ (O) Allen Wrench /
Boulon Allen (x 8) Ecrou (x 8) Clé Allen

Step 2 / Etape 2




Required Parts & Hardware / Pieces et matériel requis

(L) M6 x 85mm Allen Bolt / (O) Allen Wrench /
Boulon Allen (x 4) Clé Allen

Step 3 / Etape 3




Required Parts & Hardware / Pieces et matériel requis

(L) M6 x 85mm Allen Bolt / (M) M6 x 55mm Allen Bolt/ | (O) Allen Wrench /
Boulon Allen (x 2) Boulon Allen (x 4) Clé Allen

Step 4 / Etape 4




Required Parts & Hardware / Pieces et matériel requis

<

(N) M6 x 16mm Allen Bolt / (O) Allen Wrench /
Boulon Allen (x 4) Clé Allen

Step 5/ Etape 5

There are three possible height settings. The mattress support should be at the highest setting for a

newborn, then adjust to the lower position as the child grows and becomes mobile. Once the child is
able to stand, adjust to lowest position.

Il ya trois réglages de hauteur possibles. Le support de matelas doit étre a la position la plus élevée




Required Parts & Hardware / Pieces et matériel requis

(L) M6 x 85mm Allen Bolt / (M) M6 x 55mm Allen Bolt/ | (O) Allen Wrench /
Boulon Allen (x 2) Boulon Allen (x 4) Clé Allen
Step 6 / Etape 6

Ve
<
§%
-1 K S U
JKEE
<] Ay>%%
/”\> > %y% LA
74
> [ S >
>< < >><X
§< < ™ y}/« -
& 7 = N L
S{s )




CARE AND MAINTENANCE

- After completing assembly, check that all bolts and screws are secure and tight. Hardware
can become loose over time, so it is your responsibility to periodically check the tightness
of all fasteners for as long as you use the crib.

- Wood is a natural material. As such, it can be affected by changes in temperature and
humidity. Extreme changes in humidity and temperature can cause the wood to warp, swell,
crack, or shrink, thus compromising the structural integrity of the crib and making it
dangerous to use.

- Use caution when placing the crib in storage to avoid extremes in temperature or
humidity. Cribs should always be stored indoors in climate controlled, dry locations.

- Use care when using a vaporizer or humidifier around the crib. Do not aim the vapor at
the crib or any other wooden furniture in the nursery. Avoid using vaporizers or humidifiers
for extended periods of time.

- To clean the crib, wipe with a damp cloth and immediately the dry the surface. Do not use
any chemical cleaners or polishes. Such products can leave a residue on the finish and
come in contact with your child.

- Your crib has a durable and protective non-toxic finish. However, if you decide to refinish
it, you must use a non-toxic finish specified for children’s products. Do not use any toxic
stripping methods to remove the old finish.

wEsTW OGBSI

635 N. Billy Mitchell Rd., Ste. B 13-3120 Rutherford Rd., Ste. 407
Salt Lake City, UT 84116 Vaughan, ON L4K OB2
Phone: 908-719-4707 Canada

www.westwoodbaby.com



Soin et entretien

- Aprés avoir complété I'assemblage, vérifiez que tous les boulons et les vis sont solides et
sécuritaires. Le matériel de quincaillerie pourrait se desserrer avec le temps, alors il est de
votre responsabilité de vérifier périodiquement que toutes les attaches sont bien serrées
aussi longtemps que vous utilisez le lit de bébé.

- Le bois est un matériau naturel. En tant que tel, il peut étre affecté par les changements de
température et d'humidité. D'extrémes changements d'humidité et de température peuvent
tordre le bois, I'enfler, le craquer ou le rétrécir, compromettant ainsi l'intégrité structurelle du
lit de bébé et le rendant dangereux a utiliser.

- Soyez prudent lorsque vous remisez le lit de bébé, évitez des températures ou des conditions
d'humidité extrémes. Les lits de bébé doivent toujours étre conserveés a l'intérieur dans un
environnement sec a climat contrélé.

- Soyez prudent lorsque vous utilisez un vaporisateur ou un humidificateur pres du lit de bébé.
Ne dirigez pas la vapeur vers le lit ni vers tout autre meuble de bois dans la chambre de bébé.
Evitez ['utilisation prolongée de vaporisateurs ou d'humidificateurs.

- Pour nettoyer le lit de bébé, essuyez-le avec un linge humide et séchez immédiatement la
surface. Ne pas utiliser de nettoyant chimique ni de poli. Ces produits peuvent laisser un
résidu sur le fini et votre enfant pourrait entrer en contact avec ces derniers.

- Votre lit de bébé posséde un fini durable, protecteur et non toxique. Toutefois, si vous
décidiez de faire des retouches, vous devez utiliser un fini non toxique spécifique aux produits
pour enfants. N'utilisez aucune méthode de décapage toxique pour enlever le vieux fini.

wEsTW OGBSI

635 N. Billy Mitchell Rd., Ste. B 13-3120 Rutherford Rd., Ste. 407
Salt Lake City, UT 84116 Vaughan, ON L4K OB2
Phone: 908-719-4707 Canada

www.westwoodbaby.com



REESE

Toddler Guard Rail / Garde de sécurité

[=)
-
—
|
—
=
=
=
%]

Assembly Instruction

Instructions d'assemblage



Congratulations on your purchase of a Westwood product. We take great pride in
the quality and design of our furniture. The safety of your child is our highest
priority. It is important that you read these instructions carefully and completely to
ensure that this product functions as it was designed.

After opening the package, check to see that all the parts are present. If you think
something is missing, please contact your retailer, and they can arrange to have
the missing parts quickly replaced. You can also contact us directly, by calling
1-908-719-4707, or emailing support@westwoodbaby.com

If any aspect of these instructions is unclear, please contact your retailer or
Westwood Design for assistance.

In addition to meeting our own extensive in-house testing and standards, this crib
has been independently tested to meet JPMA certification standards.

Félicitations pour votre achat d'un produit Westwood. Nous sommes tres fiers de
la qualité et de la conception de nos meubles. La sécurité de votre enfant est notre
plus grande priorité. Il est important que vous lisiez ces instructions de maniére
attentive et compléte pour vous assurer que ce produit fonctionne tel qu'il a été
congu.

Apreés l'ouverture de I'emballage, vérifiez que toutes les composantes du produit
sont présentes. Si vous pensez qu'un des éléments manque, veuillez
communiquer avec votre détaillant et il pourra vous obtenir les pieces manquantes
rapidement. Vous pouvez aussi contacter directement Westwood, en téléphonant
au 1-908-719-4707, ou par courrier électronique a support@westwoodbaby.com

Si l'un des aspects des instructions n'était pas clair, veuillez communiquer avec
votre marchand ou avec Westwood pour de l'aide.

En plus d'étre soumis a nos normes et a nos tests complets a l'interne, ce lit de bébé
a été testé indépendamment et rencontre les normes de la certification JPMA.

WESTW DESIGN

www.jpma.org

635 N. Billy Mitchell Rd., Ste. B 13-3120 Rutherford Rd., Ste. 407
Salt Lake City, UT 84116 Vaughan, ON L4K OB2 .

Ml v s NMNOD “7AN A™7N"7 F o Y Coalodes Chanrdanels




/\ WARNING

FOR TODDLER BED USE

FAILURE TO FOLLOW THESE WARNINGS AND ASSEMBLY INSTRUCTIONS COULD
RESULT IN SERIOUS INJURY OR DEATH.

- READ ALL INSTRUCTIONS BEFORE ASSEMBLING CRIB. KEEP INSTRUCTIONS FOR
FUTURE USE.

- PREVENT BURNS. KEEP BED AWAY FROM OPEN FIRES AND OTHER HEAT SOURCES.

- ANY MATTRESS USED IN THIS CRIB MUST BE AT LEAST 27-1/4 IN. (69 CM.) BY 51-5/8
IN. (131 CM.), WITH ATHICKNESS NOT EXCEEDING 6 IN. (15 CM.). THE DIMENSIONS
OF THE MATTRESS SHOULD BE TAKEN FROM SEAM TO SEAM.

- THE MINIMUM AGE OF THE INTENDED USER SHALL NOT BE LESS THAN 15 MONTHS
AND THE MAXIMUM WEIGHT SHALL NOT BE GREATER THAN 50 LBS (22.7 KG)

- PROVIDE GUARD MUST BE USED.

- DO NOT PLACE BED NEAR WINDOWS WHERE CORDS FROM DRAPES OR BLINDS
MAY STRANGLE A CHILD.

- DO NOT PLACE ITEMS WITH A STRING, CORD, OR RIBBON AROUND A CHILD’S
NECK, SUCH AS HOOD STRINGS OR PACIFIER CORDS.

- DO NOT SUSPEND STRINGS OVER ATODDLER BED FOR ANY REASON.

IMPORTANT!

- CHECK THIS PRODUCT FOR DAMAGED HARDWARE, LOOSE JOINTS, MISSING
PARTS OR SHARP EDGES BEFORE ASSEMBLY AND PERIODICALLY DURING USE. DO
NOT USE CRIB IF ANY PARTS ARE MISSING, DAMAGED OR BROKEN. CONTACT
WESTWOOD DESIGN: 635 N. BILLY MITCHELL RD., STE. B, SALT LAKE CITY, UTAH
84116, PHONE: 1-908-719-4707; EMAIL: SUPPORT@WESTWOODBABY.COM FOR
REPLACEMENT PARTS AND INSTRUCTIONS IF NEEDED. NEVER SUBSTITUTE PARTS.



/\ MISE EN GARDE

POUR UTILISATION DU LIT DE TRANSITION

LE NON RESPECT DES MISES EN GARDE ET DES INSTRUCTIONS D'ASSEMBLAGE
POURRAIT RESULTER EN DES BLESSURES GRAVES OU MORTELLES.

- LIRE TOUTES LES INSTRUCTIONS AVANT D'ASSEMBLER LE LIT DE BEBE.
CONSERVER LES INSTRUCTIONS POUR UN USAGE FUTUR.

- NE PASPLACER LE LIT DE BEBE PRES D'UNE FENETRE OU DES CORDES DE
STORES OU DE RIDEAUX POURRAIENT L'ETRANGLER.

- PREVENIR LES BRULURES. GARDER LE LIT DE BEBE LOIN DU FEU ET DES
SOURCES DE CHALEUR.

- TOUT MATELAS UTILISE DANS LE LIT DE BEBE DOIT ETRE AU MOINS DE FORMAT 69
CM. (27 ¥4 ") PAR 131 CM. (51 5/8 "), AVEC UNE EPAISSEUR QUI NE DEPASSE PAS 15
CM. (6"). LES DIMENSIONS DU MATELAS DOIVENT ETRE PRISES DE COUTURE A
COUTURE.

- L'AGE MINIMUM D'UN ENFANT POUVANT UTILISER CE LIT DE TRANSITION EST DE 15
MOIS ET SON POIDS MAXIMUM EST DE 22,7 KG. (50 LBS.)

- LA BARRIERE DE SECURITE DOIT ETRE EMPLOYEE.

- NE PLACEZ PAS LES ARTICLES AVEC DE LA CORDE, UNE CORDE, OU UN RUBAN
AUTOUR DU COU D'UN ENFANT, TEL QUE DES CORDES DE CAPOT OU DES CORDES
DE PACIFICATEUR.

- NE SUSPENDEZ PAS LES CORDES AU-DESSUS D'UN LIT D'ENFANT EN BAS AGE
POUR AUCUNE RAISON.

IMPORTANT!

- AVANT TOUT USAGE OU ASSEMBLAGE, INSPECTER LE PRODUIT POUR DECELER
TOUT DOMMAGE MATERIEL, TOUTE PIECE RELACHEE, MANQUANTE OU COUPANTE
ET CE DE FACON PERIODIQUE PENDANT L'UTILISATION. NE PAS UTILISER LE LIT DE
TRANSITION SI L'UNE DES PIECES EST MANQUANTE OU BRISEE. DEMANDER A
VOTRE MARCHAND OU COMMUNIQUER AVEC WESTWOOD DESIGN: 635 N. BILLY RD.,
STE. B, SALT LAKE CITY, UTAH 84116 USA, TELEPHONE : 1-908-719-4707;

COURRIEL : support @westwoodbaby.com POUR UN REMPLACEMENT DE PIECE OU
DE DOCUMENT D'INSTRUCTIONS SI NECESSAIRE. NE JAMAIS SUBSTITUER DE
PIECE.



Required Parts & Hardware / Pieces et matériel requis

(O) Allen Wrench /
Clé Allen

Step 1/ Etape 1

>
< > D |
A 5 <P _
SSIREDEISN !
N < >4 >
N P <
\ i N > < ~ ;
& K

Remove the bolts from the side rail using the allen wrench provided.
Keep the side rail and M6 x 35mm (x 2) bolts for future use.

Ratira= lace hotilane Adir rail 1ataral A 'aida AdAa 1a ~lAa Allen forirnia




Required Parts & Hardware / Pieces et matériel requis

(O) Allen Wrench /
Clé Allen

Step 2 / Etape 2

Secure the toddler guard rail with the 4 bolts and tighten firmly with the
Allen Wrench provided.

Fixez le rail de sécurité avec 4 boulons et les serrer avec la clé Allen.
The toddler bed can only be used with the mattress support in its lowest position.

Le lit bébé possibilité peut étre utilisé uniquement avec le support du matelas dans sa
position la plus basse.




CARE AND MAINTENANCE

- After completing assembly, check that all bolts and screws are secure and tight. Hardware
can become loose over time, so it is your responsibility to periodically check the tightness
of all fasteners for as long as you use the crib.

- Wood is a natural material. As such, it can be affected by changes in temperature and
humidity. Extreme changes in humidity and temperature can cause the wood to warp, swell,
crack, or shrink, thus compromising the structural integrity of the crib and making it
dangerous to use.

- Use caution when placing the crib in storage to avoid extremes in temperature or
humidity. Cribs should always be stored indoors in climate controlled, dry locations.

- Use care when using a vaporizer or humidifier around the crib. Do not aim the vapor at
the crib or any other wooden furniture in the nursery. Avoid using vaporizers or humidifiers
for extended periods of time.

- To clean the crib, wipe with a damp cloth and immediately the dry the surface. Do not use
any chemical cleaners or polishes. Such products can leave a residue on the finish and
come in contact with your child.

- Your crib has a durable and protective non-toxic finish. However, if you decide to refinish
it, you must use a non-toxic finish specified for children’s products. Do not use any toxic
stripping methods to remove the old finish.

wEsTW OGBSI

635 N. Billy Mitchell Rd., Ste. B 13-3120 Rutherford Rd., Ste. 407
Salt Lake City, UT 84116 Vaughan, ON L4K OB2
Phone: 908-719-4707 Canada

www.westwoodbaby.com



Soin et entretien

- Aprés avoir complété I'assemblage, vérifiez que tous les boulons et les vis sont solides et
sécuritaires. Le matériel de quincaillerie pourrait se desserrer avec le temps, alors il est de
votre responsabilité de vérifier périodiquement que toutes les attaches sont bien serrées
aussi longtemps que vous utilisez le lit de bébé.

- Le bois est un matériau naturel. En tant que tel, il peut étre affecté par les changements de
température et d'humidité. D'extrémes changements d'humidité et de température peuvent
tordre le bois, I'enfler, le craquer ou le rétrécir, compromettant ainsi l'intégrité structurelle du
lit de bébé et le rendant dangereux a utiliser.

- Soyez prudent lorsque vous remisez le lit de bébé, évitez des températures ou des conditions
d'humidité extrémes. Les lits de bébé doivent toujours étre conserveés a l'intérieur dans un
environnement sec a climat contrélé.

- Soyez prudent lorsque vous utilisez un vaporisateur ou un humidificateur pres du lit de bébé.
Ne dirigez pas la vapeur vers le lit ni vers tout autre meuble de bois dans la chambre de bébé.
Evitez ['utilisation prolongée de vaporisateurs ou d'humidificateurs.

- Pour nettoyer le lit de bébé, essuyez-le avec un linge humide et séchez immédiatement la
surface. Ne pas utiliser de nettoyant chimique ni de poli. Ces produits peuvent laisser un
résidu sur le fini et votre enfant pourrait entrer en contact avec ces derniers.

- Votre lit de bébé posséde un fini durable, protecteur et non toxique. Toutefois, si vous
décidiez de faire des retouches, vous devez utiliser un fini non toxique spécifique aux produits
pour enfants. N'utilisez aucune méthode de décapage toxique pour enlever le vieux fini.

wEsTW OGBSI

635 N. Billy Mitchell Rd., Ste. B 13-3120 Rutherford Rd., Ste. 407
Salt Lake City, UT 84116 Vaughan, ON L4K OB2
Phone: 908-719-4707 Canada

www.westwoodbaby.com



